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Question Number : 1 Question Id : 70819119114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f e is the electronic charge, c is the speed of light in free space and h is Planck’s constant, the

e -
quantity ——— —— has dimensions of :
© o dmeg hic

Options:
/ (
70819162491, ML T

/ 1
70819162492. Ll

a7 0 )
70819162493, M LY T]
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70819162494, 1L €]

Question Number : 1 Question Id : 70819119114 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
f (
70819162491, M LTI

/ 1
70819162492. MLE

a7 070
70819162493, ML T]

1
70819162494, 1L €]

Question Number : 2 Question Id : 70819119115 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A stone is dropped from the top of a building. When it crosses a point 5 m below the top,
another stone starts to fall from a point 25 m below the top. Both stones reach the bottom of
building simultaneously. The height of the building is :

Options :

70819162495, > m

70819162496, 25 m

70819162497, 50 M

70819162498, 20 m

Question Number : 2 Question Id : 70819119115 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819162495, 4 m

70819162496, 25 m

70819162497, 50 M

70819162498, 20 m

Question Number : 3 Question Id : 70819119116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Asﬂmmofmdmsh%mdnmﬁ&ﬁrdhakmgahmﬁmﬁﬂphnowﬂhamﬂmuspmdqrh
encounters an inclined plane at angle 6 and climbs upward. Assuming that it rolls without
slipping, how far up the sphere will travel ?

@W :

Options:

70819162499, 28 Sin

lj
7
5 g

70819162500, 8 Sin

IUUS
70819162501, /8 Sinb



o |

en |k

g sinb
70819162502.

Question Number : 3 Question Id : 70819119116 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819162499, 28 Sind

g
2
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70819162500, 28 Sin
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70819162501, /8 Sinb
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70819162502.

Question Number : 4 Question Id : 70819119117 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The point A moves with a uniform speed along the circumference of a circle of radius 0.36 m
and covers 30° in0.1s. The perpendicular projection’P’ from A’ on the diameter MN represents

the simple harmonic motion of ‘P, The restoration force per unit mass when P touches M
will be :

Options :

70819162503, 100 N

70819162504, 287 N

70819162505. 20 N

70819162506, 029 N

Question Number : 4 Question Id : 70819119117 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819162503, 100 N



70819162504, 287 N

70819162505, 20 N

70819162506, 029 N

Question Number : 5 Question Id : 70819119118 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Thermodynamic process is shown below on a P-V diagram for one mole of an ideal gas. If
V,=2V, then the ratio of temperature T,/T, is :

Pt 1(Py, V1, Ty)
1
PV§=cmmmnt

2(Py, Vo, Ty)

L 4

Options :

70819162507.

70819162508. V2

B3| =

708191625009.

-2

70819162510.



Question Number : 5 Question Id : 70819119118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819162507.

70819162508. V2

P | =

708191625009.

I3

70819162510.

Question Number : 6 Question Id : 70819119119 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  In a diatomic molecule, the rotational energy at a given temperature obeys
Maxwell's distribution.

Statement 11 :  In a diatomic molecule, the rotational energy at a given temperature equals
the translational kinetic energy for each molecule.

[n the light of the above statements, choose the correct answer from the options given below :

Options :



70819162511 Both Statement I and Statement Il are true.

70819162512. Both Statement I and Statement 1l are false.

70819162513, Statement 1 is true but Statement 11 is false.

70819162514. Statement 1 is false but Statement 1l is true.

Question Number : 6 Question Id : 70819119119 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819119120 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two identical springs of spring constant ‘2k” are attached to a block of mass m and to fixed
support (see figure). When the mass is displaced from equilibrium position on either side, it
executes simple harmonic motion. The time period of oscillations of this system is :
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Options :

70819162515.

70819162516.
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A
70819162517.
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70819162518. V&

Question Number : 7 Question Id : 70819119120 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819162516.
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Question Number : 8 Question Id : 70819119121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Y =Asin(wt + dy) is the time-displacement equation of a SHM. At t=0 the displacement of

A
the particle is Y = — and it is moving along negative x-direction. Then the initial phase

angle g will be :

Options :

w| g

70819162519.

5n
70819162520. ©

o4

70819162521.

70819162522. e

Question Number : 8 Question Id : 70819119121 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 9 Question Id : 70819119122 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A charge 'q’ is placed at one corner of a cube as shown in figure. The flux of electrostatic field
E through the shaded area is :
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Options :

q
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70819162523.



70819162524, €0
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70819162525.

70819162526~ °

Question Number : 9 Question Id : 70819119122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819162523, *5¢0
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Question Number : 10 Question Id : 70819119123 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Andmtmrwﬂmhmﬂcmm%yK“mmﬁhmwmnpmﬂbIﬁMﬁofampmﬂmatmnmge
‘o’ with the plates. It leaves the plates at angle "B with kinetic energy K,. Then the ratio of
kinetic energies K T K’z will be :

Options :

: cosf3

70819162527, o5«

cosfp

70819162528, Sina

sin ZB

70819162529, 05 ¢

cos‘zﬁ

70819162530, "%

Question Number : 10 Question Id : 70819119123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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cosfp

70819162528, Sina

sin 2[3
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70819162529.
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70819162530, % ©

Question Number : 11 Question Id : 70819119124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a ferromagnetic material, below the curie temperature, a domain is defined as :
Options :

70819162531 a 111acr05cnpic region with zero magnetizatinn.

7081916253, & MACTOSCOpiIc region with saturation magnetization.

70819162533, & macroscopic region with randomly oriented magnetic dipoles.

70819162534, d MAaCroscopic region with consecutive magnoﬂc d[pDIOS oriented in OppDSLtE} direction.

Question Number : 11 Question Id : 70819119124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819119125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An LCR circuit contains resistance of 110 ) and a supply of 220 V at 300 rad/s angular
frequency. If only capacitance is removed from the circuit, current lags behind the voltage by
45", If on the other hand, only inductor is removed the current leads by 45° with the applied
voltage. The rms current flowing in the circuit will be :

Options :

70819162535, 1 A

70819162536, 1.9 A

70819162537, 2 A&

70819162538, = &

Question Number : 12 Question Id : 70819119125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819162535, 1 A

70819162536, 1.5 A

70819162537, 2

2
70819162538. St

Question Number : 13 Question Id : 70819119126 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The stopping potential for electrons emitted from a photosensitive surface illuminated by
light of wavelength 491 nm is 0.710 V. When the incident wavelength is changed to a new
value, the stopping potential is 1.43 V. The new wavelength is :

Options:

70819162539, U9 nm

70819162540, 22Y nm

.l
70819162541, 02 nm

70819162542, 400 nm

Question Number : 13 Question Id : 70819119126 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :



70819162539, U9 nm

70819162540, 229 nm

¥l
70819162541, 02 nm

70819162542, 400 nm

Question Number : 14 Question Id : 70819119127 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the diffraction pattern obtained from the sunlight incident on a pinhole of diameter
0.1 pm. If the diameter of the pinhole is slightly increased, it will affect the diffraction pattern
such that :

Options :

70819162543. ils s1ze IncCreases, and II‘lf.C‘I‘lSIT.}-' IMcreases

70819162544, ils size increases, bul intensity decreases

70819162545 its size decreases, but intensity increases

70819162546. its size decreases, and intensity decreases

Question Number : 14 Question Id : 70819119127 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819162543, ';L'} 55 f—‘{i{ﬂ :"-'l:‘l Fﬂ."ﬂﬂ[ ‘:'lal @



70819162544, 3 3% AHRL M clecl 42

70819162545, 7 55 4R Mg dlsidl 44

70819162546, U 5% Hetl 2 dlaicl 42 ©

Question Number : 15 Question Id : 70819119128 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An electron of mass m_ and a proton of mass m, = 1836 m, are moving with the same speed.

A
The ratio of their de Broglie wavelength M will be :
Aproton

Options :

70819162547.

70819162548, 1836

70819162549, 1836

70819162550, 218

Question Number : 15 Question Id : 70819119128 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819162547 1

70819162548, 1836

70819162549, 1836

70819162550, 718

Question Number : 16 Question Id : 70819119129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The wavelength of the photnn emilted b}-‘ a h}-‘drogen atom when an electron makes a transition
fromn=2ton=1 state is :

Options :

70819162551, 121.8 nm

70819162552. 194.8 nm

70819162553. 490.7 nm

70819162554. 0133 nm

Question Number : 16 Question Id : 70819119129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819162551, 121.8 nm

70819162552. 194.8 nm

70819162553. 490.7 nm

70819162554. 0133 nm

Question Number : 17 Question Id : 70819119130 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a message signal of frequency ’f, " is amplitude modulated with a carrier signal of frequency
'f. and radiated through an antenna, the wavelength of the corresponding signal in air is :

Options:
C

70819162555. fe = Jm

C

70819162556. fe * fm

L

70819162557.‘ﬁ

C

70819162558.'ﬁ”

Question Number : 17 Question Id : 70819119130 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
C

70819162555. fe = Jm

C

70819162556. fe t fm

L

70819162557.f;

C

70819162558.'ﬁ”

Question Number : 18 Question Id : 70819119131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For extrinsic semiconductors; when doping level is increased;
Options :

Fermi-level of p-type semiconductor will go upward and Fermi-level of n-type
70819162559 semiconductors will go downward.

Fermi-level of p-type semiconductors will go downward and Fermi-level of n-type

20819162560. semiconductor will go upward.

20819162561, Fermi-level of p and n-type semiconductors will not be affected.

Fermi-level of both p-type and n-ty pe semiconductors will go upward for T > TF K and

downward for T < TF K, where TF is Fermi temperature.
70819162562.



Question Number : 18 Question Id : 70819119131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 19 Question Id : 70819119132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1L

List I List 11
(a) Rectifier (i)  Used either for stepping up or stepping down the a.c. voltage
(b) Stabilizer (:
(c) Transformer (i) Used to remove any ripple in the rectified output voltage
(d) Filter (:

it}  Used to convert a.c. vo[tage into d.c. voltage

Pt

=

iv) Used for constant output voltage even when the input voltage
or load current change

Choose the correct answer from the options given below :
Options :
0819169563, (@), (B)-(), (c)-(iii), (d)-(iv)

70819162564, (@)-(i), (b)-(iv), ()-(0), (d)-(iii)

70819162565, (@)-(i1), (b)-(i), (c)-(iv), (d)-(iii)



20819162566, @), (B)-(iv), (c)-(1), (d)-(i1)

Question Number : 19 Question Id : 70819119132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
20819162563, @)-(i), (b)-(1), (c)-(iii), (d)-(iv)

70819162564, @-(i), (b)-(iv), (€)-(0), (d)-(iii)

70819162565, (@)-(i), (b)-(i), (c)-(iv), (d)-(iii)

20819162566, (@ (ii), (b)-(iv), (c)-(1), (d)-(ii)

Question Number : 20 Question Id : 70819119133 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The truth table for the following logic circuit is :

Aw

}
} Y




Options :

A B Y
0 0 0
0 1 1
1 0 1
1 1 0
70819162567.
A B b
0 0 1
0 1 0
1 0 0
1 1 1
70819162568.
A B Y
0 0 1
0 1 0
1 0 1
1 1 0
70819162569.
A B Y
0 0 0
0 1 I
1 0 0
1 1 1
70819162570.

Question Number : 20 Question Id : 70819119133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
A B ¥
0 0 0
0 1 1
1 0 1
1 1 0
70819162567.
A B ¥
0 0 1
0 1 0
1 0 0
1 1 1
70819162568.
A B L'
0 0 1
0 1 0
1 0 1
1 1 0
708191625609.
A B ¥
0 0 0
0 1 1
1 0 0
1 1 1

70819162570.
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Physics Section B

SectionId: 708191815
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911095
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819119134 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two particles having masses 4 g and 16 g respectively are moving with equal kinetic energies.
The ratio of the magnitudes of their linear momentum is n : 2. The value of n will
be

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819119134 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



4 g 2416 g Al A £l 21 Blod 2is 4l 6. ol el 2o{l4 @Al Wil el : 2 8.
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819119135 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The initial velocity v, required to project a body vertically upward from the surface of the
earth to reach a height of 10R, where R is the radius of the earth, may be described in terms

3 E
of escape velocity 0, such that o; = |'— X vy. The value of x willbe

\y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819119135 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
R Bloedt el yeell ol sundlell 10R Gland 3ell [iicer Boust weieda walid s2au 4 o3l wiles 4o

—

o, A [0l o, Al oy = |5 x o, vl ol usel, Aux e el
Vy : ‘

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819119136 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The percentage increase in the speed of transverse waves produced in a stretched string if

the tension is increased by 4%, willbe %,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819119136 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ol AOLHL 4% Al 98RL Sl 20d ol WEdl SRl Gede ddl deptd d@ou-l 2o
ev2dl UlAald 9ERl 48l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 24 Question Id : 70819119137 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If P xQ=0Qx P, theangle between P m\da is 0 (0° < 6 <360°). The value of ‘6" will be

L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819119137 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

APXQ=QxP dadp 2  AALSBLO (0°< 0<360°) D, oLl ] 3

[6all al.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819119138 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A reversible heat engine converts one-fourth of the heat input into work. When the
temperature of the sink is reduced by 52 K, its efficiency is doubled. The temperature in
Kelvin of the source willbe .

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819119138 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ultatel] Gl viegye, s uduizt Siye (iruid) Gled seiui 3uidel 53 6. el sl281 A 52 K
ofed HolsAml 20 oy el seimudl el wd 8. G seddlmiqum @l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819119139 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two small spheres each of mass 10 mg are suspended from a point by threads 0.5 m long,
They are equallj,-' charged and repel each other to a distance of .20 m. The charge on each of

a
the sphere is q X 10~ 'L The valueof ‘@ willbe .

[Given g=10ms ™~ ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 26 Question Id : 70819119139 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
10 mg £ 8l & UL A 0.5 m deudl 2il gl 2ls (g vl qestqaml 20 8. od w

2l dxull [Bor o1z © 21 2isofladt 0.20 m 2ick Yell 2ruslia 529, g ol vl [Beree % x 1078,
a4y @l [g=10ms 22N, |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819119140 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two identical conducting spheres with negligible volume have 2.1 nC and 0.1 nC charges,
respectively. They are brought into contact and then separated by a distance of 0.5 m. The
electrostatic force acting between the spheres is ~ X1079N.

1
Given : 4me,= —— Sl unit
| 0 9y 10 ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 27 Question Id : 70819119140 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A1y 55 Gl o 2 Ul dlsreiild ol 2158 2.1 nC 24 0.1 nC dlsvei 2ud 8, vidd
2 seflael dudul adl 0.5 Hlea i W2 syfLusei 20d 9, vin ol 92 GEmad (ad [Hyd s
_x10"? N 8.

[ dmey= —— ST 245X AN ©. |
9x 10

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819119141 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The peak electric field produced by the radiation coming from the 8 W bulb at a distance of

. X [ppc V e : . : - i :
10 m is E \’— — . The efficiency of the bulb is 10% and it is a point source. The value of
T m
xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819119141 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



10 m 22 8 W sstaiAl 2ousigdl Geaedeil (A0 51261 Gedrt U™ lovsit % @ :—1 2
Mslall douAl S1eEAl 10% 8 e d e 2l 8. dlxdyed 6.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819119142 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A current of 6 A enters one corner P of an equilateral triangle POR having 3 wires of resistance
2 () each and leaves by the corer R. The currents i ; inampere s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819119142 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

2 ) 241 el 280 el 2l wHeis B519L POR i el P il 6 A 3eie 44l § i eu R
il cugt (B0 9. e dyd @l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819119143 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The wavelength of an X-ray beam is 10 A, The mass of a fictitious particle having the same

energy as that of the X-ray photons is %h kg. The value of x is __
(h=Planck’s constant)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 30 Question Id : 70819119143 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0 . " o m . wow =, n n N -, " .1' = = N
at- (2l cforded 10 A 8. s-(re slelet avedll Ged il sl @ € Thkg B dlr o

- PR |}
(h="al-s 2430ls)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 31 Question Id : 70819119144 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

708191816
3

Online
Mandatory
20

20

80

Yes

1
7081911096

Yes



Correct Marks : 4 Wrong Marks : 1

Which among the following species has unequal bond lengths ?

Options:

4

Xe 4
70819162581.

SiF,
70819162582.

70819162583. i

BF,
70819162584,

Question Number : 31 Question Id : 70819119144 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al 2 2l S sl 2 (e Al) cladend il o
Options:

X0F4
70819162581.

SiF,
70819162582.

70819162583. oy

BE,
70819162584.

Question Number : 32 Question Id : 70819119145 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The solubility of Ca(OH), in water is :
[Given : The solubility product of Ca(OH), in water=>5.5x10 0]

Options :

I3

70819162585, 1-11x10

&

70819162586, 1-11 %10

I3

70819162587, 1-77 %10

70819162588, 1.77 %10 °

Question Number : 32 Question Id : 70819119145 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(Ml Ca(OH), I glesct 2lidl.

[N el Ca(OH), -l gleddl 2eusiz=>5.5x 106 8. ]

Options :

I

70819162585, 1-11 %10

70819162586, 1-11x10 ¢

%)

70819162587, 177> 10

70819162588, 1.77>x107°

Question Number : 33 Question Id : 70819119146 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the followf_ng statements is FALSE for h}-'::lrophilic sols 7



Options :
70819162589. They do not require electrolytes for stability.

70819162590. These sols are reversible in nature.
70819162591. Their viscosity is of the order of that of H50.

70819162597. The sols cannot be easily coagulated.

Question Number : 33 Question Id : 70819119146 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

sl (srctigziell) diay we 2 2uianisl 421 B g © 7
Options :

el M A [ il er32 4.
20819162580, LToell M Al FEgleusei-Al a3z 4l

70819162500, et el sl uldadl ©.

20819162591 Wl Breadiwell-A svefl i ©.

N M i
70819162597, A& ue el 2554 wnal 2.

Question Number : 34 Question Id : 70819119147 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The correct order of bond dissociation enthalpy of halogens is :
Options :

70819162593, 127 Ch> Bro> 1



70819162594, 127 Bra” Cla> Fy

70819162595, —l2” Bra> F> I

Cl,>F,> Br,>1
70819162596, — 2~ 2~ "7 2

Question Number : 34 Question Id : 70819119147 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cedler-i-Al oled [Salord wi-2piedldl 2L 53 2L

Options :
70819162593, 2> > B> I

70819162594, 12~ Bro> (> Fp

70819162595, —2” Bra> Fo> I

ClL,> F,> Br,> 1
70819162596, — 2~ 2~ "f27 2

Question Number : 35 Question Id : 70819119148 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The method used for the purification of Indium is :
Options:
70819162597, vVan Arkel method

70819162598, |duation



70819162599, Zone refining

70819162600, ©apour phase refining

Question Number : 35 Question Id : 70819119148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gedldn (Indium) At 2EaszeL w2 Guaie(l veald 2l
Options :

70819162597, At »i5d 4eald

70819162598, S+@ (liquation)

70819162599, it WEASEL

70819162600, I el Yasel

Question Number : 36 Question Id : 70819119149 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Water does not produce CO on reacting with :
Options :

70819162601. H,

70819162602. €

[}

70819162603.



C,H,
70819162604,

Question Number : 36 Question Id : 70819119149 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
qell ALl 22 U s34 CO Beurt s Al

Options:

70819162601. =y

70819162602. ©

Co,
70819162603, 2

C.H,
70819162604,

Question Number : 37 Question Id : 70819119150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement 1 :

aand B forms of sulphur can change reversibly between themselves with slow heating or
slow cooling.

Statement I :

At room temperature the stable crystalline form of sulphur is monoclinic sulphur.

In the light of the above statements, choose the correct answer from the options given below :
Options :
20819162605, Both Statement I and Statement II are true.

70819162606. Both Statement | and Statement 1l are false.



70819162607 Statement 1 is true but Statement 11 is false.

70819162608. Statement 1 is false but Statement Il is true.

Question Number : 37 Question Id : 70819119150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

12 o [EeaL 2 o

Fe I: degidl o 2 P razyid el 2w s3dil (slow heating) 244l dl#ell ¢ wisdl
(slow cooling,) cill Mlddcil4 <l 2isellasi S25t il 2 .

e 11 s 2412001 i, sesi] 2l 2L wazu 21 didifadls e 9.
Guzel [l 250, A1 2 [Esedmisl wm Gur wals 5L
Options :

70819162605, I (s, T 24 [Fas 1 20l 9.

70819162606. of, [Ese T 20 (23 11 el 9.

e 13 ;,I . 5 T "
70819162607, At T3 6 Mot Bt 114 ©.

oA Th E 5 5 ey ;. -
70819162608, ALt 16 © et [ 11 23 ©.

Question Number : 38 Question Id : 70819119151 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components of German Silver are :

Options :

70819162609, 4 Zn and Ag



70819162610. Cu, Zn and Ni

70819162611, C¢ Cuand Ag

70819162612, 2 Niand Ag

Question Number : 38 Question Id : 70819119151 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o et [RestaAL Yoo sl 2lial

Options :

70819162609, % £0 M Ag

70819162610, CW £n ¥ Ni

70819162611, ©6 Cu M1 Ag

70819162612, Z0 Ni #i-1Ag

Question Number : 39 Question Id : 70819119152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following order the given complex ions are arranged correctly with respect
to their decreasing spin only magnetic moment ?

() [FeFJ~ (i) [CoNHy)P* (i) [NiCLP~ (iv) [Cu(NHy) P’
Options :
70819162613, (1) > (iii) > (iv) > (i)



70819162614, (1) > (iii) > (i) > (iv)

70819162615, (Hi) > (iv) > (ii) > (3

70819162616, (1) > (1) > (iii) > (iv)

Question Number : 39 Question Id : 70819119152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

of 2 2L Hglol 20l Al 52l 5 Auedl sl (B g5 dotsla ausmisne dsoisl wedll el suid 8,
() [FeFgP~ (i) [CoNHs)** (i) [NiCLF~ (iv) [Cu(NH;),*"

Options:

70819162613, (1) > (iif) > (iv) > (ii)

70819162614, 1) > (i) > () > (iv)

70819162615, (1) > (v) > (i) > (1)

70819162616, (1) > (1) > (iii) > (iv)

Question Number : 40 Question Id : 70819119153 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :

The pH of rain water is normally ~5.6.

Statement 11 :

[f the pH of rain water drops below 5.6, it is called acid rain.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :



70819162617, Both Statement I and Statement 1l are true.

70819162618. Both Statement I and Statement 1l are false.

70819162619. Statement | is true but Statement 11 is false.

70819162620. Statement | is false but Statement Il is true.

Question Number : 40 Question Id : 70819119153 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al o [Fenl AN

[ 1z wellHl pH At Aa 5.6 4l 495 €4 8. (~5.6)

(At 11 ;o azattEAL sl Sluiztiel pH 5.6 52l 12 ot dl del 2ARLS 9l s¢ 8.
Guani [Eadi-i Aselul, 12 2uian [Eseqmizl Al srdiel wais sl

Options:

20819162617, b ERIER R CICETER I PR

20819162618, b [eane 1 24 (20 1T w2l 9.

70819162619, Al 1 % © el [ 11 L 9.

[Eaie 1wl € ot (e 11 1 9.
70819162620. ~ s 3

Question Number : 41 Question Id : 70819119154 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compound is added to the sodium extract before addition of silver
nitrate for testing of halogens ?



Options :

70819162621. Hydrochloric acid

70819162622, Sodium hydroxide

70819162623, [Nitric acid

70819162624, \mmonia

Question Number : 41 Question Id : 70819119154 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dellsrelldl 5421 ML, ALl Frsriemi Biean 4y GHdl udal lamisdl s 2l GHzau 21
7

Options :
20819162621, el Slsalzls 2

= 5—' 2 1eh ) E-FL-.
70819162622, B €18g1sA18

70819162623.

70819162624, UL

Question Number : 42 Question Id : 70819119155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The major pmduct of the fnﬂnwi_ng reaction is :
NO,

@/I\/

=
H,50,

Options :

NO,
70819162625, @></
: L _NoO,

70819162626

NO,

70819162627. @/\)\

70819162628

Question Number : 42 Question Id : 70819119155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Al 2009 Wi Yoo Alusy 2lidl.

Options:

70819162625.



NO,

NO,
70819162626.
NO,
70819162627.
NO,
70819162628,

Question Number : 43 Question Id : 70819119156 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major product of the following reaction is :

H,/CO
Rh catalyst

Options :

70819162629. : 2

70819162630.

20819162631, CHaCHCH=—CH—CHO

70819162632.



CHaCHsC—CHs

CHO

Question Number : 43 Question Id : 70819119156 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al 2add WEH o {lusy 2idl.
H,/CO

Rh Gelus

CH;CH,CH= CH,

Options:

70819162629. 3

70819162630.

20819162631, CHaCHCH=—CH—CHO

CH,CH,C==CH,

70819162632. CHO

Question Number : 44 Question Id : 70819119157 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct sequence of reagents used in the preparation of 4-bromo-2-nitroethyl benzene
from benzene is :

Options :

70819162633. CH,COCI/ AlCI, Br,/ AlBry, HNO3/H;50,, Zn/HCI

70819162634 CH,COCl/ AlICl,, Zn-Hg/HCI, Br,/AlBr,, HNO,/H,50,



20819162635, Bra/ AlBry, CH,COCI/ AICL, HNO,/H,S0,, Zn/HCl

20819162636, HNO3/HySOy, Bry/ AlCl,, CH,COCI/ AICL,, Zn-Hg/HCI

Question Number : 44 Question Id : 70819119157 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o [l 4-eail-2-de Fande olleoe ottt 12 quicl uiusi-l 2=l 2ell Al
Options:

70819162633. CH,COCI/ AlCl,, Bry/ AlBry, HNO5/H»S50, Zn/HCI

20819162634, CH,COCl/ AlICl,, Zn-Hg/HCI, Br,/AlBr,, HNO,/H,50,

70819162635, Bra/ AlBry, CHCOCI/AICL,, HNO,/H SO, Zn/HCI

70819162636, 1ANO;/H,50,, Br,/AICL, CH,COCI/AICL, Zn-Hg /HCI

Question Number : 45 Question Id : 70819119158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of acid character of the [ OHD‘WiI‘lg compnumfls isg :

OH COOH COOH COOH
NO, CH,
I 11 111 IV

Options:



70819162637, 1> 11> I>1V
70819162638, I > >1>1V
70819162639, 1> I >1IV>1

70819162640, 1V > M1 >11>1

Question Number : 45 Question Id : 70819119158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Al e vl 2AGS ug il el $3 srenl :

COOH COOH COOH

588 &

: i I v
Options :

70819162637, [ > 1I>HI>1V
70819162638, 1> 1 >1>1V
70819162639, 1> I >1V >1

70819162640, 1V > M1 >11>1

Question Number : 46 Question Id : 70819119159 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
What is ‘X’ in the given reaction ?

CH,OH o
+ oxalic acid L X

CH,OH (major product)

Options :
CHO

70819162641, “H1©

CH,OH

70819162642. S

70819162643.

CH—OH

|
CH,
70819162644

Question Number : 46 Question Id : 70819119159 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 UL X 98 )

CH,0OH -
| + :J‘l?ijﬁ\'f I.F':\."Lﬁ Qﬁi&. L X
CH,OH (3o {lysy)
Options :
CHO
CHO

70819162641.



CH,OH

70819162642. SR

CH,

70819162643. S

CH—OH

|
CH,
70819162644

Question Number : 47 Question Id : 70819119160 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HNO;, H,50, N2
: - - +
288 K 5
N2
NO,
(A) (B) (€)

Correct statement about the given chemical reaction is :
Options :

70819162645, —NH, group is ortho and para directive, so product (B) is not possible.

70819162646, Reaction is possible and compound (B) will be the major product.

70819162647, The reaction will form sulphonated product instead of nitration.

Reaction is possible and compound (A) will be major product.
70819162648.



Question Number : 47 Question Id : 70819119160 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
HNO;, H,50, g
e - ~ +
288 K
NO,
NO,
(A) (B) (©)

Gur 20 v lBs ula-l deoii e [Gaud 2uel.

Options :

. NI sttt ot e it el "
20819162645, 2 Mue B 2y o [42s 8, qdl Hlusy (B) 24 L.

: 3 A A4 "B LY
20819162646, UL UsH D i AllorA (B) 2 o «Alusy ol 2dal.

. ¥ fl % i T -
20819162647, XL SRl v cgirtes luer orial.

70819162648, WAL 2 © 2 Usllsr (A) 2L Yo Alusy oil 2l

Question Number : 48 Question Id : 70819119161 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Carbylamine test is used to detect the presence of primary amino group in an organic
compound. Which of the following compound is formed when this test is performed with
aniline ?

Options :

NHCHj
70819162649. :

70819162650.



CN

: . NC
70819162651.

CONH,
70819162652, :

Question Number : 48 Question Id : 70819119161 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

stellis ddlertil Wabls 2llAL el glardl 2l Hie stedapiugd suid-l Guior ue 8. U
512l ARl HiE sl wud AR A 2iaiel s s od 8 )

Options :

NHCH;
70819162649. @/

CN
70819162650. @/

NC
70819162651.

: _CONH,

70819162652.



Question Number : 49 Question Id : 70819119162 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct structure of a-anomer of maltose ?

Options :
CH,OH CH,OH
H o H H 0. H
H I
H H H H
HO OH
70819162653. HO OH HO OH
CH,OH
H O. OH
H
H
HO H
70819162654. OH
CH,OH CH,OH
H ——o0o_H H 0 H
H H
OH H )_|<'JH H
HO OH
70819162655. H OH H OH
CH,OH CH,OH
70819162656.

Question Number : 49 Question Id : 70819119162 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
HleZlotel -2l W3 el rel B 2amisl $4 9 )

Options :



CH,OH CH,OH

H O H H 0. H
< i
H H H H
HO OH
70819162653. HO OH HO OH
CH,OH CH,OH
H ——0O. H H . OH
H I
}<;)u H OH H
HO H
70819162654, H OH H OH
CH':IC'H. EHZDH
H 40— H H 0 H
H H
<~3H H OH H
HO OH
708191626565. H OH H OH
CH,OH CH,OH
H +——0o H H 0  OH
H H
H H H H
HO H
OH OH HO OH
70819162656.

Question Number : 50 Question Id : 70819119163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :

The identification of Ni?* is carried out by dimethyl glyoxime in the presence of NH,OH.
Statement 11 :

The dimethyl glyoxime is a bidentate neutral ligand.

In the light of the above statements, choose the correct answer from the options given below :
Options :
70819162657, Both Statement I and Statement II are true.



70819162658 Both Statement I and Statement 1l are false.
70819162659. Statement 1 is true but Statement 11 is false.

70819162660. Statement 1 is false but Statement 1l is true.

Question Number : 50 Question Id : 70819119163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A2 o [Eal 2t

(B 1: Ni2* <l 2l NH,OH L élsrdlal sebauda sariissigu 48 s3 s 9.
[ 10 seBida saris2igy = Badd de [@ues 9.

Guadi (el seds, 12 2 Eseqail Al Gdr waiE sl
Options:

20819162657, “irt, [t T 24t [Heiet 11 2002l 9.
70819162658. oir, [ 1 20 (e 11 viel ©.
70819162659, A4 1 2% & weL [ 11 wiig ©.

Fa 1wl o wel [Bae 110y 9.

70819162660.

Chemistry Section B
Section Id : 708191817
Section Number : 4

Section type: Online



Mandatory or Optional : Mandatory

Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911097
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819119164 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider titration of NaOH solution versus 1.25 M oxalic acid solution. At the end point
following burette readings were obtained.

(i) 45mL (i) 45 mL (1) 44 mL
(iv) 44 mL (v) 44 mL

If the volume of oxalic acid taken was 10.0 mL then the molarity of the NaOH solution is
M. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819119164 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

NaOH i glaet (4364 1.25 M lish[4s 21 glaviel 2iquius e dl. »ilix 0 ua 2 ysrat
0442 ALl HeUL,

(i) 45 mL (i) 45 mL (i) 44 mL
(iv) 44 mL (v) 44 mL
o L2 (s Ao 58 10.0 mL Al 20 €14 ol NaOH graeitl el M8, (45l

yelisHi UGS s 521



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819119165 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The unit cell of copper corresponds to a face centered cube of edge length 3.5% A with one
copper atom at each lattice point. The calculated density of copper in kg/ miis

[Molar mass of Cu : 63.54 g ; Avogadro Number=6.022 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819119165 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3.596 A ez Aol 565 Slgd Ut HIAL HsUIHA S0l 2453 51U S o By dadu (05 w2l sl
RG] 2Uddl 9. sl aedl s ddLkg/mP R 8.

(M43 £ Cu : 63.54 g ; 2diBlgl 25 =6.022 x 102
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819119166 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Electromagnetic radiation of wavelength 663 nm is just sufficient to ionise the atom of metal
A. The ionization energy of metal A in k] mol lig. . (Rounded-off to the nearest
integer)

[h=6.63x10"*]s, c=3.00 x 108 ms !, N, =6.02x 10% mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819119166 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Bl A Al 4Rl 25281 52 4L 663 nm deldend Al [Eyazeisld [Bbel v 9. dlag A
Al 2Aeedlsil Blod K mol 140 8. (494l yellsl UG- »iis 530)
[h=6.63x10"%Js, ¢=3.00 x 10 ms ~1, N, =6.02 x10% mol 1]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819119167 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

Five moles of an ideal gas at 293 K is expanded isothermally from an initial pressure of
2.1 MPa to 1.3 MPa against at constant external pressure 4.3 MPa. The heat transferred in
this process is __kmol-1, (Rounded-off to the nearest integer)

[Use R=8314 ] mol K]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819119167 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

293 K W3, ks »UERl ARl Mid i detl 2140 L8 EAL8L 43 MPa 2 cief 2321 £e8L 2.1 MPa 4l
1.3 MPa sl dudd 2d (Raz 9. dl 20 usl G wBagt Kfmol 18, (495
yulisui UG- 21is)

[Gulat 53 R=8.314 ] mol 1K ~]

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819119168 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If a compound AB dissociates to the extent of 75% in an aqueous solution, the molality of the
solution which shows a 2.5 K rise in the boiling point of the solution is ___ ~ molal.
(Rounded-off to the nearest integer)

K, =0.52 K k¢ mol !
b 8



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819119168 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2 Hllord AB evelly gravl 75% yell [edior< Wit 9. gleeldl sleuledl § of gl Gesad gy
5KAlqaRl ed ddld Hdd 9. (495 yelsui 26 iis)
[K,, =052 K kg mol "]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819119169 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Copper reduces NO; into NO and NO, depending upon the concentration of

HNO, in solution. (Assuming fixed [Cu®*] and Py, = PNOE), the HNO, concentration at

which the t]'uornmd}-'namic tondoncy for reduction of NOE into NO and ND2 h}-‘ copper is

same is 10" M. The value of 2xis (Rounded-off to the nearest integer)

= '(; :.f_‘_ y.‘ﬁ :.-rl‘ﬁ :‘l'.l il ; 2 -
[Given, ECu3+fCu 0.34 V, END;;NO 0.96 V, ENO;’[?JDE 0.79 V and at 298 K,

% (2.303) =0.059]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819119169 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
diYf (5142) NOj 4 NO 241 NO, ui kst 52 8 o HNO, glaeiel aigetl v »ueufd 8. (arl dl

wpuRadl (fixed) [Cu*] 24 Pyo=Pyo,) 2lstls u5ld 22, 5 48 NOj; 4 NO 21

NO, i [ssttd HNO, <l 58 gt 2 10°M A 34 28l dl2vfyed 9. (4
yelisi UG- is)

= " 5 . 0 o ¢ 1.1(3 - - :,—ll':? —N7 7
AR BBK®, B, =034V, By =096V, By o =079V,

% (2.308) = 0.059]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819119170 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The rate constant of a reaction increases by five times on increase in temperature from 27°C
to 52°C. The value of activation energy in k] mol lig . (Rounded-off to the nearest
integer)

[R=8.314] K~1 mol -]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819119170 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

27°C l 52°C dAtyMIHl 44l S3cti 245 WAl o0 2ianis iz 2ol 48 9. dl alusel uls
et kfmol THl 9 (4ol yulisul UG- i)

[R=8.314 ] K~1 mol 1]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819119171 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, number of metal/s which can be used as electrodes in the photoelectric
cellis . (Integer answer)

(A) Li (B) Na (C) Rb (D) Cs
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 58 Question Id : 70819119171 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

oAl 2ae s, aug(2dl) Al duats el Gy UL dgd s (SUI0asls S1v) i ddgled ol u
od_ 6.(yels vam)
(A) L (B) Na (C) Rb (D) Cs

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819119172 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The spin only magnetic moment of a divalent ion in aqueous solution (atomic number 29) is
__BM.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819119172 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ol gl 24 (gelors 20l (wogy s4is 29) W s desldasHe  BM S,



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819119173 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of compound/s given below which contain/s —COOH groupis
(Integer answer)

(A) Sulphanilic acid (B) Picric acid
(C) Aspirin (D)  Ascorbic acid

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819119173 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

—COOH ¢ auddl |2 soldd ddiove(Al)dl vt &, (yels sva)
(A)  uesillas »ikig B) [uls =ik
(C) =Rl (D) 2zsilels =i

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Mathematics Section A

Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191818
5

Online
Mandatory
20

20

80

Yes

1
7081911098

Yes

Question Number : 61 Question Id : 70819119174 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 o .
If for the matrix, A = { w AAT=1, then the value of a? +p? is :

a P
Options :

70819162671, 2

70819162672,

2
70819162673. ~



70819162674,

Question Number : 61 Question Id : 70819119174 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o . 1 @ . e e 1t :
BB A = s | W2 AAT=L &, dlat +pt gy A,

4 [ T
Options :

70819162671, 4

70819162672,

2
70819162673. ~

70819162674, >

Question Number : 62 Question Id : 70819119175 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a 33 matrix with det(A)=4. Let R, denote the it row of A. If a matrix B is
obtained by performing the operation R, — 2R, + 5R, on 2A, then det(B) is equal to :

Options :

70819162675, 1©

70819162676. 5

70819162677, °4

¥
70819162678, 128



Question Number : 62 Question Id : 70819119175 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

415 A 2 det(A) =4 ur ddl 33 Al ©. aris R 280 A Al il ez slid 9. od 24w
W54 Ry — 2R, +5R, 531 3615 B et 204, dl det(B)=_

Options :
70819162675, 1°

70819162676. 5

70819162677, °4

>
70819162678, 128

Question Number : 63 Question Id : 70819119176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The fnﬂowing system of linear equations
2x 4 3]; +22=90
3x - 2]; +22=90

x—y+4z=38
Options :
20819162679. does not have any solution

70819162680. has a unique solution

70819162681 has infinitely many solutions



70819162682. has a solution (w, 5, v) satisfying o BZ+~+3=12

Question Number : 63 Question Id : 70819119176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

70819162679, 4 8L G5 il

70819162680, i1 G54 ©.
70819162681, v G3dl ©.

" 2 3= ) H i 5 = oy ; -
20819162682, T BT Y =12 4 WA &Rl G54 (o, B, v) ©.

Question Number : 64 Question Id : 70819119177 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If I cot"x dx, then :

[l
B

Options :

1 1 1

; ; are in A.P.
70819162683, 2 "1 13 t1ls latle

70819162684, I2 I I__1r I3 [ 15, I;1 I I{.J are in A.P.



1 1 1
I, +I4 Iy +15" I4 +1g

are in G.P.
70819162685.

20819162686, I, +1y, (I3+15)%, I+ 1 are in G.P.

Question Number : 64 Question Id : 70819119177 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o
2

ol I, = _[cnt"x dx , dl
Lrd
1
Options:
1 1

: : HHlAL 2l 9.
I, + 15" I +Ig -

70819162683.12 i

L+1, L +1g, I, + I #aick Sellui 9.
70819162684, - -

1 1
I, +14 " Is + 15" Ig +1g

Hwelidz el 9.
70819162685.

L+ (I3 +15)% Iy + Ig Aol Aelui 8.
70819162686, - (I3 +I5)% Iy + Ig HY

Question Number : 65 Question Id : 70819119178 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



X

A function f(x) is given by f(x) = , then the sum of the series

5* +5
(39
o)+ (5) +f ]+ e il
20 ) 20 / 20 ) L 20 )
is equal to :
Options:
29
=3
70819162687.
)
2
70819162688.
39
2
70819162689.
19
70819162690, 2

Question Number : 65 Question Id : 70819119178 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f A
5 =51 el FU 39
(AL f(x) () f| 20‘ f| 20) f{zu;
ALWAl u,
Options :
29
92
70819162687.
49

70819162688.



39
.

708191626809.

S
!d|\5

70819162690.

Question Number : 66 Question Id : 70819119179 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g S ; ; ay -~ 2ag
Letaand f be therootsof x=— 6x—2=0. [fa, =a™~p" forn = 1, then the value of ———
Jdg

15
Options :

70819162691.

70819162692.

2

70819162693.

70819162694,

Question Number : 66 Question Id : 70819119179 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

By 3 Yy | T e +on e N oA b i El-“} 2‘33
HRLS a2 p | :1{4'[[:3'1@[ 2-br—2=041l&r 8. od n = 1 4le, a"=u'" oy, ) 108
L 'Elg.
qud  um,
Options :

70819162691, *



[h)

70819162692.

I~

70819162693.

=

70819162694.

Question Number : 67 Question Id : 70819119180 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

L “T, where a, x € R and a > 0, is equal to :

5 % aX
The minimum value of f(x)=a" +a
Options :

70819162695, 2 "1

a i
70819162696.

70819162697.

2
70819162698.

Question Number : 67 Question Id : 70819119180 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sa xe R¥da>0 ¢, rﬁf{xj=a"ft Fal—a dedrdu e 9,
Options :

70819162695, & ' 1



70819162696.

70819162697.

2
70819162698.

Question Number : 68 Question Id : 70819119181 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3log.2x dog.2x

_ e” Be ™ 4 He05

The integral _[ diip
oHloge:

- - } T . .
I 503]%?1 ;:*,:.2]“&& dx, x >0, is equal to :

(where c is a constant of integration)

Options :

log,, 2 +5x-7+c
70819162699.

. 2 B
70819162700, 11086l ¥~ 5 7|+ ¢

1 i )

110&, x+am—Ttc
70819162701.

loge Vx> +5x —7 +c
70819162702. '

Question Number : 68 Question Id : 70819119181 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



DH]UEPZ'L' | 502]“‘5#11'

slad I _ de, x>0 =_ YA
Dﬂ]i)g?l

| 503]05?1 ?Dzliﬁgi,'l.'
(sedl ¢ 2L AsanAL 2u0is D)
Options :

—a

IGBFIEISI 7| +c
70819162699. '

¥ i oo
70819162700, 1108/ X" +5x 7t c

(=

1 "
loglx"+hx—7]|+c
70819162701.

loge Vx2 +5x —7 +c
70819162702.

Question Number : 69 Question Id : 70819119182 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a, p € R are such that 1~ 2i (here = —1) is a root of z2+az +$ =0, then (a— f) is equal
to:

Options:

70819162703.

70819162704.

|

70819162705.

=1

70819162706.

Question Number : 69 Question Id : 70819119182 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ao, peR 2@y odl1-2i (A 2= -1) A 2 raztp=0q ol €4, dl (a—p)
= u

Options :

70819162703,

70819162704.

70819162705,

|

70819162706.

Question Number : 70 Question Id : 70819119183 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve x*+ 2y?=2 intersects the line x + y=1 at two points P and Q, then the angle
subtended by the line segment PQ at the origin is :

Options :
T (1)
— + tan ll—|
2 4)
70819162707.
- e
2 -.'—]:/'
70819162708.
-'..T 1)
~ } tan 1|—|
2 -?l‘_g'

708191627009.



ER

70819162710.

Question Number : 70 Question Id : 70819119183 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ol 4 22+ 2y2=2, Tl x +y=1 4 o [Ggall P24 Q 2 8%, dlzmeis PQ 21 Blailog up wlidze
wel  uy,

Options :
- o
— + tan ll i
2 \ —1'/'
70819162707.
T 1 (1)
e ta_n s,
2 \ '—]:/'
70819162708.
e e
® e Y= |
= =y,
708191627009.
2 \ 3‘,-'
70819162710.

Question Number : 71 Question Id : 70819119184 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The shortest distance between the line x —y=1 and the curve 2= 2y is
Options:

g
2
70819162711.



%)
ra]

70819162712.

70819162713.

K=

70819162714.

Question Number : 71 Question Id : 70819119184 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Wl x-y=1 25 22=2y q2Uf AYeH Pt 9,

Options :

e
iy
70819162711.

%]
£
()

70819162712.

70819162713.

b=

70819162714.

Question Number : 72 Question Id : 70819119185 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



i el
A hyperbola passes through the foci of the ellipse lg | 31‘—6 =1 and its transverse and

conjugate axes coincide with major and minor axes of the ellipse, respectively. If the product
of their eccentricities is one, then the equation of the hyperbola is :

Options :

9 y)

x }f_ _1
70819162715, ° 16

o 2

5
70819162716.

2 2

5 o =1
70819162717.

x2 yz =0
70819162718.

Question Number : 72 Question Id : 70819119185 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 2

518 34s 2o, 31 Gy % | 31’—6 = 1 Al ulrolimipfl wetr 2D 24 el o 215 o g

28 i Guetaiell 3o 28 e o000 2 A D5k O, ol oAl Beegl@idl 2|eusi 25 ¢, did
2 [dadu] wlsael %l

Options :
9 )
e N
70819162715, ° 16
9 2
- e
70819162716, ¢

70819162717.



B

2
ol
9

-2

¥ )
X y-=9
70819162718. &

Question Number : 73 Question Id : 70819119186 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A plane passes through the points A(1, 2, 3), B(2, 3, 1) and C(2, 4, 2). If O is the origin and

—
Pis (2, —1, 1), then the projection of OP on this plane is of length :

Options :
B
]—
V3
70819162719.
2
1
70819162720.
7
7
70819162721.
2
’;ill_
70819162722.

Question Number : 73 Question Id : 70819119186 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
a5 yudd (G5l A1, 2, 3), B2, 3, 1) 2L C(2, 4, 2) it i 4 8. o O Glomlels 2 P 2

5 . . i ﬁ
(2, ~1,1) €&, Al OP ol 24l e et wetuedl s @,



Options :

70819162719.

70819162720.

70819162721.

70819162722.

Question Number : 74 Question Id : 70819119187 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 1 n n
lim | — 4 | |

noeln (n+1)2  (n+2)>2

Options:

1
70819162723.

k3| =

70819162724,

U3 | -

70819162725.

1
4
70819162726.

5 | is equal to :

: MCQ Option Shuffling : Yes



Question Number : 74 Question Id : 70819119187 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

! 1 n n n
lim | = 4 5 | T r—— e ol
noln  (n+1)" @m+2)° (2n - 1)°
Options:
1
70819162723.
1
?
70819162724, ~
.
3
70819162725.
k.
4
70819162726.

Question Number : 75 Question Id : 70819119188 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n a group of 400 people, 160 are smokers and non-vegetarian; 100 are smokers and vegetarian
and the remaining 140 are non-smokers and vegetarian. Their chances of getting a particular
chest disorder are 35%, 20% and 10% respectively. A person is chosen from the group at
random and is found to be suffering from the chest disorder. The probability that the selected
person is a smoker and non-vegeltarian is :

Options :

—
!

70819162727, >

3

70819162728. e



L3

70819162729.

14
70819162730. 4°

Question Number : 75 Question Id : 70819119188 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

400 4 sctdiAl 25 ¥y, 160 5l Gl 52 8 24 HRIGEL S ; 100 ZHUIA 5 B i WSl B,
AL 511 140 UM stetl A2l 2 2ustel ©. ot el s usteedl asells A dedl wsiel M-;a'll
35%,20% 21 10% 9. 41E [eys A 2 it 2is 4fon WaiE st A9 © i e il 4y

ustell cisells © e W 48 8. ol el 52 o fit u ULt 54 O 2 1l © ciell ol 9.

Options :
7

70819162727. o

&i| =

70819162728.

HR

70819162729.

14
70819162730. 4°

Question Number : 76 Question Id : 70819119189 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let A be a set of all 4-digit natural numbers whose exactly one digitis 7. Then the probability
that a randomly chosen element of A leaves remainder 2 when divided by 5 is :

Options :

(.Fl||-—"'

70819162731.

O N

70819162732.

70819162733, 27

122
29
70819162734.

|

Question Number : 76 Question Id : 70819119189 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SRLS oL Rt 25 245 7 € o dell 4-250l s gl dvazinl 2ol A 6, dl (s dd s
53 A AL 25 B2 5 o MLt AM 2 oA el Heusl 9.

Options :

K.Fllr—r'

70819162731.

oM

70819162732.

70819162733, =7

122
29

|

70819162734.



Question Number : 77 Question Id : 70819119190 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b3 | w2

If0<x, y<mwand cosx + cosy — cos(x + y) = —, then sinx + cosy is equal to :

Options:

b=

70819162735.

-
w| G

70819162736.

w3

I3

70819162737.

o

I3

70819162738.

Question Number : 77 Question Id : 70819119190 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wl (<1, Y < 1 cosx + cosy cos(x +y) = e G4, dlsinx+cosy =__
Options :

2

2
70819162735.

3

H|

70819162736.



70819162737.

70819162738.

Question Number : 78 Question Id : 70819119191 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let x denote the total number of one-one functions from a set A with 3 elements to a set B
with 5 elements and y denote the total number of one-one functions from the set A to the
set A xB. Then:

Options :

2y=91x
70819162739.

]
=
Il
I3
|
L
p

70819162740.

y=91x
70819162741.

70819162742.

Question Number : 78 Question Id : 70819119191 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

Zl.r =01x
70819162739.



]
=
Il
I3
]
L
o

70819162740.

Y= Ol x
70819162741.

70819162742.

Question Number : 79 Question Id : 70819119192 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
.f_l_ '-,
mwr[iml_l (5) 4 rm._1| — |-‘ is equal to :
e

Options :
56

70819162743, 2

65
33
70819162744,

65

70819162745, °°

al.
L

70819162746.

Question Number : 79 Question Id : 70819119192 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



' .f
pilf e -1{ 4)
cosec| 2cot 1['_}_]  COS 11 b | N . .
D)

Options :
56
70819162743, 2
65
33
70819162744,
65
70819162745, -°
B
70819162746.

Question Number : 80 Question Id : 70819119193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The contrapositive of the statement “If you will work, you will earn money” is :

Options :

70819162747, 10 earn money, you need to work

20819162748, You will earn money, if you will not work

208191627409. If you will not earn money, you will not work

If vou will earn money, vou will work
70819162750. - siiade

Question Number : 80 Question Id : 70819119193 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819162747, “UEL SUAAL, dHk 51 529 U,
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70819162749.
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Question Number : 81 Question Id : 70819119194 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A function f is defined on [ -3, 3] as

i

2
Jminlx,] 3 1=l=y=7

fix)= k) v 2=z =3

where [x] denotes the greatest integer = x. The number of points, where fis not differentiable
mi-33i. .
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min{|x|, 2 IEI, 2=x=2

o b eanala 9,

ﬁﬁq._ﬁ[lf%]‘ﬁ-m]zjt (1x[] - B

sedl o] Mg Yol = s ©. (-3, 3) Wi flAsadl A u de gl v 8,
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Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819119195 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[f the curve, y=y(x) represented by the solution of the differential equation
(2xy? ~ y)dx +xdy=0, passes through the intersection of the lines, 2x ~3y=1 and
3x +2y=38, then |y(1)| is equal to ____
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Evaluation Required For SA : Yes
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5 to 5.001

Question Number : 82 Question Id : 70819119195 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

wd [Ase flsneL (2uy? - y)da + xdy=0 i G5t s (5l adl as y=y(x), T2l 20 -3y=1 24
3x+2y=8 Al 8% Wl vuir wy, Ay = .
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Question Number : 83 Question Id : 70819119196 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of two digit numbers ‘n’, such that 3" + 7" is a multipleof 10,is .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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5 to 5.001

Question Number : 83 Question Id : 70819119196 Question Type : SA
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30470 10 Al 9els oA cell of wisiel v Alga v 8.
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dx

., axr—(e 1) : ] s }

If lim g — el and is equal to b, then the valueof a—2bis
= ax(e™ 1)
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Question Number : 85 Question Id : 70819119198 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
If the curves x=1y* and xy=k cut at right angles, then (4k)° is equal to
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ol Al Xy 2 xy=k at&”g,@l o, di ke =
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-

The value of _[ 3x? —3x — 6|dx is — |

ey
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I3 —3x—6ldx e D
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If the remainder when x is divided by 4 is 3, then the remainder when (2020 + )2 is

divided by 8is

Response Type : Numeric
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Aline T’ passing throug_h origin is perpendicu lar to the lines

—5

it =B40i +(-14+20] + &+ 20k

A

—

L:r =(3+4 ?5).1'\' F(3 4 ?5]';'\' (24 5]'11:

If the co-ordinates of the point in the first octant on ‘I," at a distance of /17 from the point
of intersection of ‘I and ‘I;" are (a, b, ¢), then 18(a+b+c)isequalto ____ .
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GlarCiguiall wae adl 2o 7, il
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—* Ay
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A line is a common tangent to the circle (x ~3)?+1>=9 and the parabola y?=4x. If the two
points of contact (a, b) and (c, d) are distinct and lie in the first quadrant, then 2(a +¢) is
equalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
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Let a =1 4 M -3k and b =3i ﬂ; - k. If the area of the parallelogram whose

- =3 i
: : . o X : :
adjacent sides are represented by the vectors a and b is 8v3 square units, then a - b is
equal to
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